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lagr_asym_us_avg (ppb) 1D pull distribution
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1D pull distribution
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N ®©® © o ! N~ o o
g B 2 B g B
< 92«
s & S w3 3 ©
+,ﬂ S H H n
re] s 2 ¢ 7
NI - 8 005 a
NN N~ - ©
e x o o I
o o T
1 W - -
z: € & s & ]
s o 5 T g 3 s g — <«
g = B2 & T § & »° ]
= »w S5 O < O =
Imuz
. 7
- O
_|f_’ ]
i ]
}
/Mn_,_
S S S S RS  ERUI B
< N o [ee) (] < N o
- - -
0 O
AT
=~ o0
N~ —————
1o}
oo.+_
33
O
———
Lo
<
—
©
c
~
~n O —_—
< Q]
— e
——
— i
—
—_—
——
bl P TR
o o o o o o o o
o o o o o o o
o o o o o o o




RMS (ppm)

134

133

132

131

130

129

128

lagr_asym_usr RMS (ppm)

AN NN R
S G S g 5 e b b 8 G v 7 7 8 g 58 g g S g s 58 0.4



5000

4000

3000

2000

1000

lagr_asym_usl (ppb

X2 7 ndf 31.06/ 48

TTTTTTTTTTTTT =
[ gl |

p0 487.1+ 186.9

1D pull distribution

0.001287 + 0.1137

0.7962 + 0.08043

3.302/4

12.78+ 3.18

-0.007667 + 0.223662

0.8245 + 0.2303

Mean
14 Std Dev
B Underflow
12 Overflow
B X2 I ndf
10 Constant
r Mean
sk .l
Sigma
6 L
4
2
L1l | Ll | | 111 | 1 [l | | !

€ 4

-2 0 2 4

6 8




RMS (ppm)

133

132

131

130

129

128

lagr_asym_usl RMS (ppm)

oL L L]
S G S g 5 e b b 8 G v 7 7 8 g 58 g g S g s 58 0.4



3000

2000

1000

-1000

-2000

lagr_asym_us_dd (ppb)

X2 7 ndf 26.11/ 48

pO 28.38 + 128.2

1D pull distribution

Mean 0.01659 + 0.1042
i ] StdDev 07297 £0.07371
181
B Underflow 0
16 Overflow 0
L X2 ndf 4.986 /5
14
i Constant 14.95 +2.89
12~ Mean  -0.06036 + 0.10152
L Sigma 0.6303 + 0.0803
101
8 —
6 —
4
2 —
-III|III|II ||||||| |||III|III
0
-8 - -4 -2 0 2 4 6 8




RMS (ppm)

lagr_asym_us_dd RMS (ppm)

(e}
=

|IIII|nIIII|IIII|IIII|IIII|IIII

90.5
90
89.5
89

88.5

I T Y Y A
R e g S S g 8 e b b g S G v 7 7 8 1 g S g g S g s 58 0.4

SHTTT



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10


